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(i) bl iz'ui= esa 26 iz'u gSaA lHkh iz'u vfuok;Z gSaA 
(ii) iz'uksa gsrq fu/kkZfjr vad muds lEeq[k gSaA 
(iii) izR;sd iz'u dks /;kuiwoZd if<+;s rFkk leqfpr mRrj nhft,A 
(iv) iz'u la[;k 1 esa 8 cgqfodYih; iz'u gSa] tcfd 2 iz”u vfHkdFku&dkj.k izdkj ds gSaA lgh fodYi 

viuh mRrj iqfLrdk esa fyf[k,A 
(v) iz'u la[;k 1 dk izR;sd [k.M ,d vad dk gSA iz'u la[;k 2 ls 5 rd 1 vad ds iz'u gSaA iz'u 

la[;k 6 ls 15 rd nks vad ds iz'u gSaA iz'ula[;k 16 ls 23 rd rhu vad ds iz'u gSaA iz'ula[;k 
24 ls 26 rd pkj vad ds iz'u gSaA 

(vi) bl iz'ui= esa lexz dksbZ fodYi ugha gS rFkkfi dfri; iz'uksa esa vkarfjd fodYi iznku fd;k x;k 
gSA ,sls iz'uksa esa dsoy ,d fodYi dk gh mRrj nhft,A 

 
 

Directions:- 
(i) There are all 26 questions in this question paper. All questions are compulsory 
(ii) Marks attached to the questions are mentioned against them. 
(iii) Read each question carefully and answer to the point. 
(iv) Question no,1 is multiple choice question, in which 8 questions are MCQ and 2 questions are Assertion 

and reason based. Write correct option in your answer book.  
(v) Each part of one marks each. Question no.1 carries one mark. Question no. 2 to 5 are of one marks 

each.Question no. 6 to 15 are of two marks each. Question no.16 to 23 are of three marks each. 
Question no. 24 to 26 are of four marks each.  

(vi) There is no overall choice in this question paper, however an internal choice has been provided in few 
questions. Attempt only one of the given choices in such questions. 
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1. क जब परागकोश तथा वǓत[काĒ एक हȣ समय पर पǐरपÈव होते हɇ; तो यह कहलाता है- 
When anther and stigma mature at the same time ; it is called–              

(I) होमोगैमी 
`Homogamy  

(II) होमèटाइलȣ 
Homostyly 
(iii ) हरकोगैमी 
Hercogamy 
(iv) डाइकोगैमी 
Dichogamy 

1 

ख अतंरालȣ कोͧशकाएं पायी जाती हɇ-                                    
Interstitial cells are found in- 

(I) यकृत मɅ 
In the liver 

(II) वÈृक मɅ  
In the kidney 

(III) वषृण मɅ 
In the testicles    

(IV) अडंाशय म े
In the ovary 

1  

ग Ǔनàनͧलͨखत मɅ से ͩकसका ͧसɮधांत जीवन कȧ उ×पͪƣ से संबंͬधत नहȣं है-                     

 Which of the following theories is not related to the origin of life? 

(I) èटेनले ͧमलर 
Stanley Miller            

(II) ए आई ओपेǐरन 
A.I .oparin.                              

(iii)      ज ेबी एस होãडने 
J .B .S Haldan. 

(iv)       माãथस 
       Malthus 

1 

घ ͪवषाणु संĐमण से र¢ा के ͧलए शरȣर Ǔनàनͧलͨखत मɅ से ͩकसी ͪवशषे Ĥकार कȧ Ĥोटȣन 
उ×पÛन करता है–                     
Which of the following is special types of proteins does the body produce to protect itself 
from viral infection-  

(I) हामȾÛस  

1 
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Hormones 
(II)  एंजाइम 

 Enzyme 
(III) Üलािèटɬस  

plastids  
(IV) इÖटरफेरांन 

 Interferon  

³ जैव Ĥौɮयोͬगकȧ मɅ ĤयुÈत आणͪवक कɇ ची है-          
 Molecular scissor used in biotechnology are- 

(I) डीएनए लाइगेज 
DNA  Ligase.  

(II) डीएनए पॉͧलमरेज 
 DNA polymerase.  

(III) हेͧलकेज  
Helicase.  

(IV) ĤǓतबंधन एंडोÛयूिÈलएज 
Restriction Endonuclease 

1 

च फलȣदार पौधɉ कȧ जड़ɉ से संबंͬधत जीवाण ुहै- 
The bacteria associated with the root of leguminous plants is-           

(i) èयूडोमोनास  
Pseudomonas 

(ii) एजोटोबैÈटर  
Azotobacter 

(iii) लैÈटोबैͧसलस  
Lactobacillus  

(iv)  राइजोǒबयम  
Rhizobium 

1 

छ Bt ͪवष ͩकस माÚयम मɅ सͩĐय होता है-        
In which medium is Bt poison active? 

(I) अàलȣय pH पर At  acidic pH. 

(II) उदासीन pH पर At neutral pH. 

(III) ¢ारȣय pH पर At alkaline pH.  

(IV) Ǔनàन ताप पर At low temperature 

1 

ज लाइकेन बनते हɇ-           
Lichens are formed from-  

1 
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(I) जीवाणु व कवक से from bacteria and fungi. 

(ii) शैवाल व जीवाणु से from algae and bacteria. 

(iii) कवक व शैवाल से from fungi and algae. 
(iv) कवक व ͪवषाणु से from fungi and virus. 

 
 Ǔनदȶश: Ĥæन संÉया-1 के अगले दो खÖडɉ मɅ , दो कथनɉ को अͧभकथन A तथा कारण R के 
Ǿप मɅ ͬचिÛहत ͩकया गया है। Ǔनàनͧलͨखत ͪवकãपɉ (i),(ii),(iii)तथा (iv) मɅ से चुनकर इनका 
सहȣ उƣर दȣिजए। 
Direction : In next two part of Question No-1, there are two statement labelled as 
Assertion A and Reason R  from the following options (i), (ii),( iii),and (iv), select the 
correct answer. 

(i) A तथा R दोनɉ सहȣ हɇ तथा R,A कȧ सहȣ åयाÉया करता है।  
Both  A and R correct and R is the correct explanation of A 
(ii) A तथा R दोनɉ सहȣ हɇ परंतु R, A कȧ सहȣ åयाÉया नहȣं करता है।  
Both   A and R correct but R  is not the correct explanation of A. 
(iii) A सहȣ है परंतु R गलत है।  
A is correct but R is incorrect. 
(iv) A तथा R दोनɉ गलत हɇ। 
 Both A and R are incorrect. 

1 

झ अͧभकथन (A) - ĤजाǓत कȧ ͪवलोपन का Ĥभाव समĒ पाǐरतंğ पर पड़ता है।   

कारण(R)- ĤजाǓतयां ͪवͪवधता कȧ ͪवͧशçट इकाई है तथा पाǐरतंğ मɅ मह×वपूण[ भूͧमका 
Ǔनभाती है।   
Assertion(A)- Extinction of species affect the entire  ecosystem. 
Reason ( R)- species are a unique unit of diversity and play an important role in the 
ecosystem. 

1 

ञ अͧभकथन(A)-उçणकǑटबंधीय ¢ेğɉ मɅ जैव ͪवͪवधता सवा[ͬधक होती है।    

कारण (R )–उçणकǑटबंधीय ¢ेğ मɅ ऋतुओं मɅ अͬधक अतंर नहȣं होता है।                 
Assertion  (A)- biodiversity is highest in tropical region. 
Reason ( R)- there is not much difference between the seasons in tropical regions. 

1 

2.  लघुबीजाणुधानी या परागपुटȣ कȧ सबसे आÛतǐरक परत को Èया कहते हɇ?   
What is the innermost layer of microsporangium or pollen cyst called. 

1 

3.   पाğ ेǓनषेचन तकनीक ͩकस अÛय नाम से जानी जाती है?      
By what other name is invitro fertilization technique known? 

1 

4.  एक संकǐरत Đॉस के ͩफनोटाइप व जीनोटाइप अनुपात ͧलͨखए।                 
Write the phenotype and genotype ratio of a hybrid cross. 

1 

5.  उƣराखंड के ͩकÛहȣं दो राçĚȣय उɮयानɉ के नाम ͧलͨखए।      
Write the name of any two national parks of Uttarakhand.                    

1 

6.  èटेनले ͧमलर के Ĥयोग का èवÍछ नामांͩकत ͬचğ बनाइए।           2 
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Draw a clean labeled diagram of Stanley Miller’s experiment. 
7.  कोई भी बÍचा वणा[Ûध नहȣं पैदा हुआ, जबͩक उनके ͪपता वणा[Ûध थे। कारण सǑहत 

समझाइए।               
 No child was born colour blind even though their father was colour blind. Explain with 
reason 

2 

8.  एक पǐरपÈव परागकण कȧ काट का नामांͩकत ͬचğ बनाइए। इसके ͩकÛहȣं दो भागɉ के 
Ĥमुख काय[ बताइए।     
Make a labeled diagram of a section  of a mature pollen grain and tell the main function of 
any two of its parts. 

2 

9.  मǑहलाओं मɅ अनुव[रता के ͧलए कोई दो कारण बताइए।        
Give any two reasons  for female infertility. 

2 

10.  ऊतक संवध[न के दो उपाय ͧलͨखए।                   
Write  two uses  of tissue culture. 

2 

11.  बायोपाइरेसी Èया है?                          

What is Biopiracy? 

2 

12.  पाǐरतंğ मɅ मɅ खाɮय जाल का Èया मह×व है?     
What is the significance of a food web in an ecosystem? 

2 

 अथवा/or   

 खाɮय Įृंखला कȧ तुलना मɅ खाɮय जाल एक पाǐरिèथǓतकȧ तंğ को अͬधक िèथरता कैसे 
Ĥदान करता है? 
How does a food web provide greater stability to an ecosystem compared to a food chain?   

 

13.  डबल रोटȣ व एथेनॉल बनाने मɅ यीèट कȧ ͩकस ĤजाǓत का Ĥयोग ͩकया जाता है ?  
Which species of yeast is used in making bread and ethanol ? 

2 

 अथवा/or  

 दहȣ कȧ एक थोड़ी सी माğा ताजा दधू को दहȣ बनाने मɅ कैसे मदद करती है? 
How does the addition of a small amount of curd to fresh milk help formation of curd? 

 

14.  पादपɉ कȧ जाǓत ͪवͪवधता कȧ अपे¢ा Ĥाͨणयɉ मɅ जाǓत ͪवͪवधता अͬधक ͧमलती है कारण 
बताइए?                
 Species diversity is more in animals tha n in plants, explain the reason. 

2 

15.   रेड डाटा बुक Èया है ?                        
What is red data Book ? 

2 

16.  बैͬगगं (बोरावèğावरण) तकनीक Èया है? पादप जनन काय[Đम मɅ यह कैसे उपयोगी है?  
 What is bagging technique? How is it useful in a plant breeding programme? 

3 

17.  मोनोहाइǒĦड Đॉस कȧ सहायता से मेÛडले के पथृÈकरण के Ǔनयम को èपçट करɅ?        

State Mendel's law of segregation with the help of monohybrid cross?. 

3 

18.  एक हȣमोफȧͧलया Ēèत ͪपता, हȣमोफȧͧलया का जीन अपने पुğ मɅ संचǐरत कभी नहȣं कर 
सकता åयाÉया कȧिजए।  

3 
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A father suffering from haemophilia can never transmit the gene of haemophilia to this 
son. Explain. 

19.  Ĥोकेǐरयोɪस और यूकेǐरयोɪस मɅ ĤǓतलेखन के अंतर को समझाइए। 
Describe the differences between transcription in prokaryotes and eukaryotes. 

3 

 अथवा / or   

 उस Ĥयोग का वण[न करɅ जो यह Ĥमाͨणत करता है ͩक डीएनए आनुवंͧशक सामĒी है। 
Explain the experiment which proves DNA is a genetic material. 

3  

20.  Èया आप ऐसा सोचत ेहɇ ͩक ͧमğगण ͩकसी को अãकोहल / ĜÊस लेन ेके ͧलए Ĥभाͪवत 
कर सकते हɇ ? यǑद हां तो åयिÈत ऐसे Ĥभावɉ स ेअपने आपको कैसे बचा सकते हɇ?  
Do you think friends can influence one to take alcohol/drugs ? if yes, how can one  protect 
oneself  from such influences ? 

3  

21.  पारंपǐरक कृͪष और जैव Ĥौɮयोͬगकȧ कृͪष के बीच तीन अतंर ͧलͨखए। 
Write  three differences between traditional agriculture and biotechnology agriculture. 

3  

 अथवा / or  

 जैव Ĥौɮयोͬगकȧ मɅ Ǔनàनͧलͨखत कȧ भूͧमका कȧ åयाÉया कȧिजए- 
Explain the roles of following in biotechnology - 

(क)-ĤǓतबंͬ धत  एÈसोÛयिूÈलएज।  
Restriction Exonuclease. 
(ख)-जैव ͪवɮयुत कण सचंलन। 

Bioelectric particle movement. 
(ग) -pBR322 मɅ वरण×मक ͬचÛहक। 
Selective markers in pBR322. 

(1+1+1) 

22.  पͪवğ उपवन Èया है? उनकȧ जैव ͪवͪवधता के संर¢ण मɅ Èया भूͧमका है ?  
   
What are sacred groves? What is their  role in conservation of biodiversity ? 

3  

 अथवा / or  

 Ǔनàनͧलͨखत कȧ पǐरभाषा दȣिजए व Ĥ×येक का एक-एक उदाहरण दȣिजए- 
 Define the following and give one example of each.- 

(क)  सहभोिजता 
Commensalism. 

(ख)  परजीͪवता 
Parasitism. 

(ग) सहजीͪवता  
Mutualism  

(1+1+1) 
 

23.  पाǐरिèथǓतकȧ तंğ मɅ ऊजा[ के Ĥवाह का मह×व बताएं।                              
Explain the significance of energy flow in an ecosystem.. 

3  

24.  एक ĤाǾपी आवतृबीज बीजाÖड के भागɉ का ͪववरण Ǒदखाते हुए एक èपçट एवं साफ 4  
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सुथरा नामांͩकत ͬचğ बनाएं।  
Make a clearly and neatly labeled diagram showing the details of the parts of a typical 
angiosperm ovule. 

 अथवा / or  

 (क)   माͧसक धम[ चĐ मɅ Ĥोजèेटेरोन कȧ भूͧमका Èया होती है? इसके èतर मɅ होने 
वाले पǐरवत[नɉ का Ĥभाव बताएं।                                 
What is the role of progesterone in the menstrual cycle? Discuss the effects of 
changes in its levels. 

(ख) मानव कȧ शुĐाणु कȧ संरचना का वण[न कȧिजए। 
      Describe the structure of a human sperm. 

2+2   

25.  हाडȸ -वाइनबग[ साàयता Èया है? पाँच घटक बताइए जो इस साàयता को Ĥभाͪवत करते हɇ। 
What is Hardy-Weinberg equilibrium? State Five  factors which affect this equilibrium. 

4  

 अथवा / or  

 ɮͪवसंकर Đॉस कȧ मदद से मɇडले के èवतंğ अपåयूहन के Ǔनयम का वण[न करɅ।  
Describe Mandel's law of independent assortment with the help of dihybrid cross 

 

26.  Ǔनàनͧलͨखत अनुÍछेद को Úयानपूव[क पǑढ़ए तथा उसके नीचे Ǒदए गए Ĥæनɉ के उƣर 
ͧलͨखए– 
Read the following passage  carefully and answer the question given below – 
 पनीर सêूमजीवɉ के उपयोग स ेबनाए जाने वाले सबसे पुराने खाɮय पदाथɟ मɅ से 
एक है। यह एक दÊुध उ×पादन है। दधू को èकंिÛदत कर के दबाने पर इसका तरल भाग 
Ǔनकल जाता है। ठोस भाग हȣ पनीर होता है। आजकल ͪवͧभÛन सूêमजीवɉ का उपयोग 
करके तरह-तरह के पनीर बनाए जाते हɇ । पनीर बनाने मɅ Ĥयोग ͩकया गया सूêमजीव हȣ 
उसे ͪवͧशçट गठन, सुगंध व èवाद Ĥदान करता है। 
Cheese is one of the oldest food products made using microorganisms. It is a dairy 
product. When milk is coagulated and pressed, its liquid part is removed .The solid part 
is cheese. Nowadays, different types of cheese are made using  different 
microorganisms. The microorganisms used in making cheese give it  distinctive texture, 
aroma and taste.             

(क) रॉकफोट[ पनीर बनाने मɅ कौन-सा सूêमजीव उपयोग ͩकया जाता है? 
Which microbe is used in making Roquefort cheese. 

(ख) रोकफोट[ पनीर िèवस पनीर से ͩकस तरह अलग है।  

How is Roquefort cheese different than Swiss cheese ? 

(ग) घर मɅ पनीर बनाने के ͧलए पथृÈकरण कȧ कौन सी ͪवͬध का 
उपयोग ͩकया जाता है? 
Which method of separation is used for making cheese at home? 

(1+1+2) 
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